




LU Decomposition
Summary

Recall: If we want to solve Ax = b, we can:

• row reduce (A|b), or
• find A−1.

Today: the method of LU decomposition.

Computational complexity of row reduction: n4/3
Computational complexity of LU decomposition: 4n3/3



LU Decomposition
Outline

• LU decompositions

• Using LU decompositions to solve Ax = b

• Finding LU decompositions: an example when A is square

• Finding LU decompositions: an example when A is not a square

• Application to electrical engineering (circuits)

• What do do when there are row swaps






















